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Operations Research

2x+ y=11 1)
3x+4y =24 (2)
(1)>4-(2) 5x = 20
x=4,y=3
dx+3p-z=-5 (I
dx—dy+3z=1 (D

—Sx+p-dz=—8 ---(3)
(D=2 + (D=3 13x+Tz=-4 ...(4
(D+ (D=2 —Tx-Tz==14--- (D
(4 + (5) fr=-18 . x=-3

(Uiﬁ_%{—g—zy+az=z

(B x3+(7) Tp=14 . p=12
(f)— z=3y-1=3wxi-1=5
rT=-3,p=2,2=5
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Warm-up

“dp+d =117
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Operations Research

3X+4=5x-4

X=5

Xx+2y=5 (1)

2x+ y=3 2)
(1)><2 2 y=7

x=1/3, y=7/3

x=0.6x + 0.3y + 0.2z (1)
z=0.1x+0.2y + 0.4z (2)

X+y+z=1 3)
3 x=1-y-z 4
@ @

7y +6z=4 5)

3 @
7z-y=1 (6)

(5) (6) z=11/55=1/5,y = 2/5
x=2/5 y=2/52=1/5

Warm-up
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